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203 = + 3

897 = 800 +

L4q = 400 +
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+ 30 + 5 =

935

+ 40

| earning Task 3: Write ber that |

. Fouwr hundreds, nine tens and three ones
2. Nine tens, three ones and four hundreds
3. Three tens, five hundreds and one
4. Nine ones, seven tens and five hundreds

5. Eight more than zero tens and four hundreds ~



! ing Task &: Write # [ f ‘b’ in the followi
numbers:
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| earning Task 5: Regsoni | bl

Miss Lyons says: “There are /0 ftens in 578.7 Why (s this
incorrect? Explain.
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(] +30+1=731

449 =400+ [ + 40




